
Coasts Homework 6 

Study Figure 1, a news article about coastal defences in Cliffall, a UK coastal town.   

 

1) Which one of the coastal management strategies below is a hard engineering strategy.  (1) 

a) Beach nourishment b) Dune regeneration c) groynes d) managed retreat 

 

…………………………………………………………………………………………………………………… 

 

2) Describe one soft engineering strategy mentioned in figure 1 (1)    

……………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………… 

3) Give one benefit of this strategy (1) 

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………… 

4) Describe 2 disadvantages of using this soft engineering method as a defence (2) 

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………… 

5) Suggest why coastal management at Cliffall does not include managed retreat ? (2) 

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………… 

 

 

 

 

 

 

 

 


